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M[4] =
M[4-3]+1 =
M[]+1 =
Infinity +1=
Infinity

M[5] = M[5-3] +1=
M[2] + 1 = Infinity. SO
THIS IS NOT THE
MINIMUM. M[5] =
M[5-5]+1=M[0] +1=
1

Here, the index numbers represent the remaining amount (to be made)

R - Ci = Next Remaining Amount

M means the
minimum number
of coins required. Ci
means the coin
chosen

Mathematical Representation of Coin Change ->

M[0] =0

Infinity, when | cannot be made
MIi] =

Min(1<=i<=|c|) (M[R-Ci]+1); when | can be made and i>=Ci

Minimum No
of Coins
Required =3

M[E] = M[6-3] +1 =
M[3] +1=1+41 = 2.
Alternatively, M[6] =
M[E-5]+1 = M[1]+1=
Infinity. So, we pick
3.

Coins
chosen ->
7,3,5



M[7] = M[7] = M[7] =-__f_f
M[7-3]+1=  MI[7-5]+1  M[7-7}+1/
M[4]+1= =M[2] +1 = =M%7|“

infinity infinity =
M[8] = M[8] = M[8] =
Misj = Missp = MITES
MIBFI=2 - MBM=2Z  nfinity
L/_\/ ‘/
Foony!
Count O
M[9] = M[9] = M[9] =
M[9-3]41% M[9-5]+1= M[9-7] +]1=
M[6]+1=  M[4]+1= M[2] +1=
X3 Infinity Infinity
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M[1] =
M[11-3] +1
= M[8] +1

=3

M[10] =

. M[10-3] +1

\7 M[Z] +] =

M[10] =
M[10-5] +1
= M[5]+1=

2

M[11] =
M[11-7] +1
= M[4] +1
= Infinity

M[10] =
M[10-7] +1
=M[3] +1
=2



